__‘____“

101. If power of a lens is ~0.5 dioptre focal length and type of lens is

102.

11

\}}{)/ 2 m, concave

®)
©

(D)

Glevereiv gpetriblen et —0.5 enwimii el DIHET (GGG FLD DML CUENS cTemEn ?

(A)
(B)
(O

i)Y

2 m, convex
50 cm, concave

50 cm, convex

2.8, g
28, @ell
50 G, @

50 @aLs, e

Find the odd one out :

Related with heat in one action.

(A)
(B)

Conduction

Convection

\S,G')/ Absorption

D)

Radiation

Ceumliul_ () Gmiums ser{idly, :

QeuliLggL & FDUBSLIULL & — G(F Qewed

A)

B

()
D)

5L_§,g,€u

FEVEOTLD

2L SGUTGeD

adlreled
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103. Match the following :

(a)’ .Potéssiuﬁl. chlorate ‘ 1. ‘Co'nstipation
(b) Epsu;n salt -. . 2. Match industry
(c) Copper sulphate salt 3. Cragkers

(d) Potassium nitrate 4, FL;ngicide '

@ (b) (c) @

@ 3 4 32 1
® 2 3 4 1
e 2 1 4 o3
® 3 £ 1 2
Spésaim_cupap @ uﬂ@'é}gjali :
(@ Quriirflud ECmGr. 1. weidssond ﬁr’résa.s'
(b) ermb ey 2. FUQul g Gemihereresafic
()  amiureeCuil ey 3. . | ulLmre
@ Qurierflu et Grl 4. g,@més Qsndasluins

f

@ ® ©© @

@ 3 4 2 1
B - 2 3 4 1

| € 2 1 4 3

| D 3 4 1 2

JSTT3 : - 28
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104. Find the correct statement/s :

105.

L After the release of the ovum the ruptured graffian follicle is transformed into corpus
- luteum. ‘
1I1. Corpus luteum a transitory endocrine gland.

(A) | I wrong II correct

(BY  Icorrect Il wrong

(C) BothIandIl wrong
(]Zj Both I and I are cofrect

#flwiren spenp Caitey Qauis :

L e sigm GeuaCLpnEsbE Glm@.éh;rmi'&us&r urelflaTaeT o anl_hg STTLEY @I 1GWILOTS
| wrmEng. ' :

Il smiuen gmiguib (15 BTl @ermd HrrnGus rr&_wrrg);éimgj.

@) Isagllsn
® Isfllgag
© T oppd IT seump
O Topgis I s

Pseudomonas putida a genetically engineered bacterium was in;rented By.
(A) Dr. Ian Wilmut | |

(B) Dr. Korana

{(C) Dr. Chandrasekar

tﬂﬂ Dr. Ananda Mohan Chakraborty

_ @Gun@mnmnm ergd wryL Gumbluilwisd gped 2 Heurssliul L unde Auirees sem_flbseuir

(A) Dr. siweneSepmor
(B) Dr. Qangresr
(C)  Dr. s fyGosit

D) Dr. gyeups Gunad sbruiss

29 - o JSTT3
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106. Point out the wrong statement/statements in the following :

(i)
(@)

(1)

(iv)
(A)
()

Organisms which are able to synthesize their own food are called autotrophs

Organisms which are unable to synthesize their own food are called heterotrophs

Organisms which are unable to synthesize their own food are called autotrophs

Organisms which are able to prepare their own food are called heterotrophs

(i) and (iv) ' ' B @ and (i1)
() and (i) @ i) and ()

1l 6tev (1 Gu @t D M) 6iT g,ajmrram'aalgbgjiahﬁ)gj.smm GO ABs -

O
(i)
(i)
(iv)

A

(©

_ gmé@@gmmynw ‘&W@mg s1Gen swWriégs Qsraueel sHemiy e ulflser

. BHEF; @gjéﬁ)mhn@r o amTanal sTGar swMfés (pgwngeme Gpsriy e udfleedr

FRTEE, Gg,eméuﬁ_lrrm 2 ewreneu TG S i AP WITGened GHETL] 2.u9 faar
BT Caeneuwimer 2 amenau srCan SWLTMSEH Qararuemea Gpsriy o flse

(i) and (iv)  ® @) and @)

(1) and @it} (D) (i) and (v)

107. What is the genome of AIDS virus made up of?

GV

&
- ©

D)

D_NA
RNA
Chromosome

Gene

erudl el epaure TG IGaTmond yang)? |

@A)
(B)
©
(D)

JSTT3

DNA
RNA

G&CrrCunGemd

e
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108. Which authority conducts the Local Bodies Elections?

.109'.

b@(ﬂ State Election Commission
{(B) Central Election Commission

(C)  District Election Board

(D)  Observers

2 aremm_£g Gg,ﬁg,daamm Gr;ijéa SienioliL) BL5518mg?
(A) mnﬁwg Garge panenmiuib

(B) mgg@ G e

(C)  wranL Gghged eumfluid

(D)  urrepsuwTeTTSHET

During the period of which Indian Prime Minister was there hung Parliament?
A J awah’énrlal Nehru

(B) Indira -Gandhi

: ee{) LK. Gpjral '

(D) Rajv Gandhi

s @pHu ﬁlgg,mmeﬁ aresfi Qi LT EBIETD D GHUL L7
W gauaniane Gpe |

®  @pdor s

(C) oCs Ghrre

® r;ngeﬁ Y I

31 | | JSTT3
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110. The Period of Tenth Five Year plan is
i 20022007
(B)  2007-2012
(C)  1997-2002
D) 1992-1997

u‘&,g,rr@g F A o O T 3y P
A 20022007

(B)  2007-2012

©  1997-2002

D) 1992-1997

111. Choose the answer :

Article of the Cdnstitution prohibits the state from arbitrarily arresting any

- person.

@) Article 22

(B)  Article 23
(C)  Article 24
(D)  Article 25

sflwrer eferevw CaipOsH -

QP sirdweenornden sl QflefenLig ereuenyuyb amyanan @l ensgy)

Cleliws s_ng,.

@) . 22
B A823
© ofif24
D) 5425

JSTT3 | a2

Tt

sl



112.

113.

- 114,

11

In which part of the Constitution of India is dealt with Fundamental Rights?
@  Paitll . @ Partim
(C) PartI o . ‘D) Part IV

~

 SiglinemL o Ranwser Bbdu sirHuaemioide Ceidaiiuy Gerar LGS

A) uedll - . ‘ B) v Il
) vuvedl . D uved IV

‘Glimpses 'bf Wérld History’ was written by

(4) Mahatma Gandhi |

(-B) Iﬁdira Gandhi

(Qﬂ Jawaharlél Neh;fu 7 .

(D). RajivGandhi . | S

‘2 60& e hH e (mEash Ser érdrrg). Beney eTpdluieui

(A) _'LDa;rrglLD-rra;rr‘r_'r,ﬁl‘

® @idensd

(©) Raugniend Cpam

D grgley ém;f;ﬁ

Forty-Second Amendment Act came into force in the year

@& 1947 .' w57 1976

(© 1967 - (D) 1958

42-qugl 5L AMABD P PODES UbS B

@) 1947 B 1976
(C) 1967 o . (D) 1958

33
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115. From the fig, find the value of 'yt

w 300.

® 607
(C)y 90°
D) 45°

Eemreu(md uL_gdled ‘x” e dlieus sma.

Ay 30°
®B) 60°
© 90
(D) 45°

JSTT3 | N 34 -
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116.

117,

118,

Find the height of a parallelogram whose area is 300 cm? and base 15 cm is
(A) 10em oo (B) 15 cm
@ 20cm | (D) 30cm

@ Gevemrsrgdler Uiy 300 5.Qs.8 LoHmID Qquuésasl.b 15 Qg8 sraflér 2_wgid |
@ 105 ®) 15Qs.8
© 20Qs8 | (D) 30Qs.8

Ram is 7 t1mes as old as his daughter Nanthini. After 5 years he will be 5 times as old as hlS :

daughter. What are their present ages? _
Ay 5,35 - | B) 6, 42
(© 9,63 ' | @) 10,70

unu‘ﬂeﬂ Guu_lgj Sieung waer BiHaflide Guu_:mg Gurrm 7 BLAE. 5 bl hsesss0 ﬁlm@ gmile uwig)

waeflen euwang Gune 5 DL 1B, GTeslled Syeuirsetien ggGun@ngm QILGISET GTétan?
@ 53 ® 642
© 96 . @) 10,70

If E=i then the value of 6a +4b is
b 3 , 6a-5b )
@ -1 R ®) 3

e o

a 4 . Ba+4b . ) .

-3 ereeflch e —5b mmﬁlug EAGHTS B
S @ -1 - ®) 3
© 4 | D) 5

35 o a _ JSTTS3
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119. - Find the missing number in the place "

' O - ¥
~ [ ]
- b ®

@ 10 - - ® 11
© 13 | | )

C AUl erérTananTd srewTs Y

(AN
& ‘
O\ 4
@ 10 ® 1
© 13 D) 14 .

120. -Simplify J'214+J112+J7-4+JE | .
Ko . ® 18

(C) 25 : ®) 17

' smEGS sz + 112 + 74 + Y29

(A) .15 B) 18
© 25 | O 7
Jgst18 6

11



121

122.

1

Divide Rs. 700 amdng A, B, C so that A gets 2 times more than to B and B gets 2 times to C

 how much of amount they are getting?

(A)  Rs. 100, Rs. 200, Rs. 400
(B) ~ Rs. 200, Rs. 300, Rs. 200
(Cy Rs. 300, Rs. 200, Rs. 200
@f) Rs. 400, Rs. 200, Rs. 100

A 5@ B- ou Gure 2 B Ba;(ef, Cgu Curré 2 Lnl_rEJ(ajLo ﬁmn_as@wmq. e 700-23. lﬂlaﬂgg,rrsu

" <B6UTEET Guggm AL F20F:: ereucuaTey?
(A . 100, g 200, . 400
"B . 200, (5. 300, (5. 200

©) . 300, . 200, a5. 200

(D)  em. 400, em. 200, gy, 100

-

A cone, hemisphere; and cylinder have equal bases. If the heights of the cone and a cylihder

are equal and are same as the common radius then find the ratio of their respective volumes

(A) 2:3:4
fhﬂ 1:2:3
(C)y 2:1:3

D) 3:2:5

| @@ dbly, BiepGaTand mmguu: 2 (HEDar %&wmm &0 au}uuuulﬁlmma @wrsm@mmgj supGien

2 Wb a_@mmuﬁlm e_u_u;g,ﬁgp@ SLOLMTSE|LD, Gm@gw @mg.u.luw seunflen IFHDEG FLOLTERD
Bmbsmod Gibapendlen sasiaTeys@EhsSamLGL 2-ater 6 LFD Sners.

(A 2:3:4
B 1:2:3
© 2:1:3
D) 3:2:5

37 . JSTT3
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123. Using_identities X —9y= -6 xy =4, Find the value of x? — 53

K _oss | (B) —-388
- (© 2068 | @» -278 .

x-y=-6;xy=4; aalla x* - y*-ér wHy srens
“(A) -288 _ _ - (By -388
(C)  -268. . D =278

124. Two taps tan fill a tank in 30 minutes and 40 minutes. Another tap can empty it in 24 min.
If the tank i is empty and all the three taps are kept open in how much time the tank will be
filled '

(A) 1} hours
(B) two hours
ﬂZﬂ _one hour |

(D) 24 hours

R Gl,e_'r,m'_tq_mﬁ A ‘@Eprru'_lasvah safisgafiGu apapGu 30 PO raiser, 40 fusl_disafid Briydpg.
-LD'T_DQQ)H@ Gwmis B Hmbdw Gg,m’_lq_mu_l 24 P _fisafler smell Qaiyd. Agm iy srflwns @@;Bg
Qapepy @gpnma@w SCF smu.ag,g‘)w ,ﬁg)pg edliu’ e é{g@g,m_.tq. THSEE ﬁl.ﬁh_r&lemﬂm
BrioLib?

@) - 11 wefCopp
- B) - @rein® wal Gpri
© oo we Gopid -
D) 24 wasl Gppd

JSTT3 o - 38 | =



125.  The radius of a wheel.is 1.75. How many revolutions will it make in travelling 11 km? .
@ 1 o ® 100
«f] 1000 . (D) 10000
_ 1.75 SIb QETETL @ ST 2 em L G ety 11 £.5 gisms sLES aismen SHOHIGET SHO
Caidr@®d? S B |
@4 10 | () 100

(© 1000 o (D) 10000

126. Monthly exﬁendifure of a person is shown in the figure. Find the amount has in his savings?

Other expenses

(A) Rs.800 " (B) Rs.900
(C) " Rs. 1,000 o IA Rs. 750

. gmeufien wrg Grawesst LLHD .srrl'_l_llnuv'_@dmrr@.,gmﬂé( oA eTeeIETEY CTaNE HTaRTE.

G&Lﬁ]ﬂu
L.ERTGY
&5 3,000
- Bsy tewveysen
(A) Rs.800 . (B Rs.900
(C) Rs.1,000 = (D) Rs. 750
< 39 | | ~~ JSTT3
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127.  When was the uniform pattern of education policy introduced 1n our country?
(A) 1965 - o ) 1068

© 1970 © 1971

BIb BT 148 SimeanahéEh swabi siefl Gararens eiflpsLu@Es L L sy

(A 1965 o (B) 1968
© 1970 D) 1971
B 7 128. FERAis S— Exchange Re:gulation Act.
Qyﬂ Foreign - , - ~ (B) Forest
(C) Fiscal - - _ "~ (D) Finanee
Gl'lil.@;%fl'.ﬂ. eI, ‘ ' uflarrggenen (Lflwrbmin) @mmﬁu(agg:juu_ Fo b,
RGVIIREE T AR - ® e
© P4 - D) s

129.  The first five year plan 6f India was launched in
A 1947 | @ et
(© 1956 - D) 1961

@ﬁé\mmﬁ]d} PEOTD ghsTTHS S b Bl enOUBSSINCL e[

@ 1947 . ® 1951

(€©) 1956 ' . D) 1961

JSTT3 ' | 40



130. Choose the correct answetr.:

IL

1L

v.

Nimbus clouds are vertical clouds

Nimbus clouds are high clouds

' Nimbus clohds ai'e low clouc_ls _

Nimbus clouds are cotton-like clouds

@f! Tony

(B)

€

D)

I only

I1I only

IiI and IV

SpGarpasiu L meusaiie sflwrer flent_anws g ;-

II.

I

(A)

®
©

- D)

amirueL Gustisareag Qeti@ssman GamsaTE@
amiLeL Cuakiserang) 2 Wi CoshisamT@En

sriuenL Guakisemreng Tb GLamSETELD

sriuamL Guabisemmang Aok 55 u@@ﬁmu;l Curanmg) '

Twl (o |
Il bl G
III w @w

III wipn IV

41
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131. Unequal distribution of fhe rate of growth of population due to two reasons
(A)  Nature of terrain and low infant mortality
(B)  High infant mortality and climate |
((Zﬂ Nature of terrain and elim.ate
' (D)  Employment opportunity, nutritious food
'Lnésam'_Qgrrma; rpm urels dés Q,pése&]@ f)m aryerilger
Q) PAasGerppd, Gopbs Gpbos @iy
(B =fsuios @ouy whpib stafloa
(©) BosCardnb, sreflame
D) Camaamily, sssmmey
~ 132.  Which statement is correct?
I. . Eutrophication means natural nutx-;ient enrichment of streams and lakés e
I1. 'Water‘_ pbl]ution mainly affects the water based ecosysténi. o |
III. - The unwanted sound cannet damage physiological and psychological health
(A TandII - (B) Iland IIL
) TandII | (D) IH only
sflwimen G:S]G&)l_mu_: Cerbs®m :
"L wefigisdr oidls .g_ﬁ)uggé'sasrra;ﬁ uma&ru@é,gjm o4 AUSSET il Dl S Q&ﬁi}ﬁbﬂl.ll.'.@ Bir

Hlavasmans GeameLaams '.'Lﬂd)&gﬁ_l_mm@gj:g,d)” aerflGpmd
II.  wrsen s B, Bifle Gips Gg,n@@é)u_j urdlEdng
OI.  Ggemeuwnp &L’Jg,Lb wellgises Comédub Hmb mmﬁwwoﬁyu ur@.&sésrrg
@ Topgs I | B uwpge I
© Twpgopll | ©) I @b

JSTT3 , E 42 | =



133.

134.

135.

The Poet known 55 _t_he “Parrot of India” was
(A) -

“Qipdus Hal” aranr Sienipssiiug L a;eﬁ]@r‘r.'——)r—-
@

©

Al Beruni

- Amirkhusrau

<3ieh Ligmeaf) 7

élﬂﬁ@du@

Shivaji was born at

(A) Satara
) Shivner
Saungd Oppss
(A)  egmgr
afléuGani

©

'Language is the means of

(A) . Transport

(B) IrrigatéonJ.

(Gﬂ | Communication
®  Spirituality
Quomfl GI‘GBTLI@]:.

A)  Cursganss
B) gicunsen |

(5] @mmﬂqé&@eﬁl |
D eariaciyianers

43

®)
(D)

(B)
™

®)
®

(B)-

(D)

Kaiqubad

Balban

e,
MEGLTS

UmebLteh

Bijapur

Poona

egligh

LLeuTm

- JSTT3
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"~ 136. Which one of the following is correctly matched?

L. Kudavola System
II. Variya perumakkal
III. Varipothagam-

IV, Boomi Puthras

@& . 1

(Qﬂ I

Cheras

- Pandyas

Cholas

Kalapiras

® 1II -
® v

QereugheraeuDIeT erg) Stwims Qun@@@@dmfgﬁ

1. @-Gaurana (pemp
IL. aurflw@umsser

I1I. mnrﬂ@un‘&,gaﬂb

V. LSS
A I
(C) _‘III.

-

Gapiw
Lreiig Wi
Gempir
smﬁuﬁ]qr‘r

®) I

O IV

"137.  Which one of the fo]lov#ing‘is correctly matched?

(Aj Ettayapuram

(By  Jallian Walah Bagh Tragedy

| W . Swaraj Party
(D)  Prohibition

_ Collector Ash

— -~ Hunter Committee

- C.R. Das, Motilal Nehru

- V.0. Chidambaranar

Glemeu(meuaTaupmIeT org STwNs Gﬁrr@rj,ﬁu_]ehmg?

(A)  enlrwymb
(B)  gréllwuen surednuné S
(S a;u.lnrr_ggﬁu.l s 4 .

D)  wgdase

JSTT3

- sQELIT ey

L~ apewr asLﬁll'_lq."

C.R. grev, Gurdlamrd Crm

- eu.e_. flgbugenmi

44
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139.

1t

138. Which British commander captured the placé Nerkkattum SE\ra'l?'

(A)  Colonel Heron

B! Colonel Campel

(C)  Jackson Durai |

(D)  Pulithdevar

Gppa’{Hid Graud LGSlaw @asluupdlu hdCGawu serusd
(A) sifened Qamyrer
B) siwd CabEud

(C) - mrésen gieny

r(D) HedlgCaeuit

rI.‘he First Indian Governor General of Indeﬁendeﬁt India was
(A) Lord Mountbatten™ |

(B) Lord Rippon

m Raj égopalachari

(D) Lord Canning

&éﬁaﬁv iHunelen s Qﬁuéﬂw seuiant Agganyey
(A)  Quener Gui e Gy |

®  Aouer Gy |

© @ Gesfrurra?rréarrfl j

D)  srafii Ggyy

45
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140. Rabindranath Tagore renounced his Knighthood in protest against ————— incident.
(A(ﬂ .The' Jallian Walla Bagh Massa;:re o
{B) Rowlat Act |
(C)  Chauri Chaura Incident

D) Dandhi March

@Uﬁﬁﬁumﬂén gt rps Pepsfifoner B HE) 0Bl UL Fo0s BIDHST?
(A) grélwer surrr.‘;orrurré; Q@Q&sm&nm | |
B Grewc sl

(© . Qearh Qoryr Papidl

(D) . geims wnsHany

141. Choose the incorrect pair :

(A)  Bayern Munich ~  Foot Ball B
(B). Missy Franklin _ Swifnmi‘ng
(C) 'Sebastian Vettel - 'I‘ennis'

Cﬂﬂ | Dale Steyn - Hockey

gaupnen Glamemenu sty :

@ Guirdrgpefls - aroups
(B)" el e aflen - Rasd |
© s S A G - Qe
® e GoGLIGar - orsd

JSTTS 46



142. Match the following :
(@) David Wﬂi{ie- ' 1.' Dance
® 'Paama Subra‘maniyam‘ 2. Music |
© Abdﬁl Walid Khan 3, Séulpture

(d)  Auguste Rod_in 4, Painting

@. -~ ®. © - @

@) 2 1 3 4

® 2 1 4 3

« 1 1 2 3

D) 4 2 3 1
Qenraugpeuaneupenn AuNhags :

(a) Gl_leﬁlh;'eﬂsbél. - Nt pLan>
b) ugma.'umafn_m‘ 2. Qs
© | S aunedls sren 3. Spun

(d) osGsCrmgenr 4. geflun

@ ® © o

@ 2 1 3 4
® 2 1 4 3
© 4 1 2 3'_
@ 4 2 3 1

47 ‘ . JSTT3
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143. Match the following :

(a) .Afgh‘anistaﬁ 1 " National Congress

(b) Argentina . 2 National ASSembly o i
(¢) Zimbabwe 3.  Parliament |

(d) Singapore 4. Hu:)use of Assembly

@ ® © @

@ 2 1 3 4
® ¢ 1 3 2
C) 4 3 9 1

@ 2 1 4 3

£@e‘5&€&ﬁ_é.r pen Quirmssa -

(;l) '%L'mrreoﬂdugrraﬁ ‘ | 1.‘ Cadl srmdyen

: (b)’ oifdgeimg e 2.. - Cgdlw gy

© ibumiGey © 8. unpm@HeTpLL

) Sisigi 4 apeye e sEbia

@ k) © @

(A). e 1 3 4
® 1 1 ER
© 4 - 3 2 1
O 2 1 P

JSTT3 | | 48
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o | | |
144, I—Iighest Poﬂing percentage. of 16th Lok Sabha élection in Tamil Nadu constituéncy’_ié
(A)  Madurai | ' |
| (B) | Tiruvallur -
Dharmapuri
(D) Arakkonam

16-aug) wasarena Cgigedla sl 55l 9ifls arsguude gl Aubniater s

(A - wgeor
(B) é\@msﬁ@ﬁ .
(€©)  sirwyM

D) ersCsrambd

145. Doordarshan provides free-to-air DTH service as |

I Ku-band

I1. DD direct + -
III. S band

IV. Kband |

(A) Tonly

@B landIonly
(C) III only
(D) TIandIVonly

ghgiages, smb) gmmaaefﬂ%h tpawors Qoats DTH Cranas siaflsgn siomeaflomssdr
L Ku — simaeuflas | |

II. DD direct+

Im.  s- am@miﬂm&

IV. K- sasaaflas

@ Twces
B I wpmib II oo @
© Ilwpe
O Topge IV @o

= ' ' 49 - o S JSTT3'i _
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146. = Which country does Crimea belongs to?

(&)

(B)

Georgia

Belarus

LO{] Russia -

D)

Latvia

syt eTHS BrlanL srrﬁﬁgjehm QL wr@Ew?

@)
®)
©

D)

147.
&)
®)
(©)
o

- sBumrgdhur

ATRT

eI

ageilwr -

Nﬁtional Sports for Indonesia is

Chess

Hockey

Volley Ba]_l

Badminton

B5GsrGarflureier Coélw elememurc G

(A)

®

< -

(D)

JSTTS

FEITRIELD

anrss

eumeltumed

CUCLOC L e

50



148. Choose the right answer : : e

149.

1t

Which of the four métropolitan cities connecting the six lanes super highways?
(A) - Chennai, D_elhi, .Kolkata and Nagpur | |
(B) Chennai, Delhi, Nagpur and Kochi

(C) - Mumbai, Delhi, Chennai and Kochi

%)  Chennai, Mumbai, Delhi and Kolkata

aflwman aflent. Gf(l_.psj :

<M el SPLILE FTEn&EET B)anenTé@ L0 ‘rj;nsisr@ LDTB&BIGET WITanal?
(A) Qeenenan, @a_.e'usﬁl, QaresssT DHHID HraLyT

B Qedreoer, Aioed, priyt wppb Osréd

(&) @meu, Gl_gvedl, G&eﬁrmém WwHm D Clsred

(D) Qgananan, (pibenLl, Qe pmb Asndsss

-

Which lake is located in the eastern. part of Gre’at lakes? ‘
(A) Lake suﬁerior |

(B) Lake Michigan -

) . Lake Ontario |

(D) Lake Huron

Quflu ghlsefle fips@l ugula samuwbgierar afl erg?

A  s08Awrgf
(B) H&faen ol
(C) = e Gurr arfl

@ avgrengh
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150. Match the following :

(a) Force : 1. . Watt

(b} Momentum | 2. Joule
(¢} Power ‘ 3. Kgms!

(d) Energy - : _ 4. Newton

@ ® © @

Ay 4 1 2 3

®B) 3 2 1 4

© 3 12z 4

& 4 3 1 2

Qunmsss -

(a__l) eflang | 1. eumrL-
(b)) 258D 2. g@qb

) Swan 3. &ABed!
@ Hmed 4. By e

@ ® © (@

@ 4 1 2 3
® 3 2 . 1 4
© 3. 1 2. 4
O 4 3 1 2

JSTT3 | 52



152,

1t

Choose the correct one -

If kerosene, water and mercury is taken in a same glass tumbler arrange the position of

them from the top to the bottom of the glass tumbler.
(A)  Mercury, Kerosene, Water
(Bﬂ | Kerosene, Water, Mercury
© Watef, Mercury, Kerosene

(I} Kerosene, Mercury, Water

silwnen clilenL_amu G Qs -

S SERTERATIT g Libamfled wemllemamQemnis, Fi, LTsFsDd sr@ggjas@esmmmuuLan (@emmrs)

Seupfiar Hlavewaeamen Libearflen Gweﬁ]@;_r;gj &1 cuany emrﬂcam&uu@g@
(A) LTS T&WD, LoaiT(l errarGlemTy, B
(B) Loaiur@ws&w@_mu’.:, B, ursgeb
(CY B, ungpsb, Lnafo'r@smas'm@emu'_l

D)  wearQemraTQemTil, ungren, B

The percéntage of Gold in 22 Carat is .
) 91.67%
B) 75%

© 67.91%

(D) 96.17%

22 smy’ g,rma;g;ﬁsur Fgaigib eraan?
A4 91, 67%

B) 7%

€) 67.91%

D) 96.17%

53
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153. Find out the calcium compound found on bones and teeth

@)
H)
©

(D)

Caleium carbonate

‘Calcium phosphate
Calcium chloride

. Calcium sulphate

GT@IbL LD;}')QJLEJ .urj)a;a‘r'lsb s LD srodlugden Cambw erg?

(A

B)

(O

O

sradub smiruCen_
sreodlwue ureGul
araflub GGerrany(d

smedwh s’

154. Among the following which one is not an Insecticide?

(A

®)

©)

o

DDT
BHC
Zinc phosphide

Zinc sulphide

Deéimeu(meuaneudified org LERELEsTDS Gdame?

@)

®)

©

)

JSTT3

DDT

BHC
SISSHTS LTevenu(h ‘

Z55HME FLUD
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155,

156.

Identify the inco'rrect'pair :

L Albamin L Water balancg

II.  Globulin - Immunity

III.  Fibrinogen - Blood clotting
IV, Plasma — - Solid component

A I . N : B II

(©) T & v

- saprar Sy e serHls :

L elen - fBrswfeow
L GGemmyaSlar  — Crmi ﬂﬁfruurrgbg)ﬁ)
L eulfiCamger —  @Qrssb 2 onsd
IV. - dermevon ~ S eam a5 -
A I ' B 1

© m D IV

‘Which among the following food chain is an example for Grassland ecosystem? .

(A) Grass - Deer — Fox —» Tiger

' éBf) Grass —» Grasshopper —» Frog — Snake — Eagle -

(C)  Grass - Frog - Snake — Elephant

(DY Grass — Cattle —» Lioﬁ

E@&asa‘an_eurj)ydr LeQauaf oair_wgHlen e ames siided erg?
(A)  yé — wrer — pAl N e
By yo > th.@ésﬁqﬂ - gQumer — UMDY —» &G

(©)  yad - geuemer — UMb = wiTene

D) ya —» a;_rrei)me_eEGi.T — Ausid

55 _ - JSTTS
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157. "'Which gas is release the refrigerator?
@ CcH, - a ® ¢«
© H, - @ cFe

: @éﬂﬁaﬁgeﬁr QuiguilelBHa GeualGuimib eury erg?
(A  CH, ®
© H | (D) CFC

158. The Governor is éppointed by
@) Judge |
(B) Prime Minister
(C)  Chief Minister

‘Dﬂ President

S @EBHaT Hldllirieur
A ESus
B)  Gygw wpH

' -‘ (C) 5D SwseT

D)  Gyurs ganeeur

159. ‘I:Iow longcan a money bill be delayed by the Rajya Sabha? -
(A) Two months ' :
(B)  Six weeks
(C) 30days

| QD‘ﬂ 14 days

ewr WGETETma IHQRISET DIEna 6TeuoeTa STt FTSLILHESMD?
(A @ran(® wrgkiser '

B) < argRseT |

(©) 30 priser |

D) i4 ‘Lﬁrrﬁ_.ase'rr

JSTT3 56



- 160.

161.

«)

(B)
©)
(D)

(A)
(B)
©)
D)

Which article permits Separate Const1tut10n for the State of Jammu:Kashmir?

Article 370
Article 390
Articlé 161
Article 356

THE é.an;ré'lu_lau @9@ sRdp- asrr@quB@&@ sl émélu_leuemmumu mggm@élmg?

gl 370

a8390
98 161
S8 356

Arrange the Prime Minister’s of India in chronological order of their term in office

T

.
1L
V.

(B)
(©):
D)

'I.'

II.
I1I.

v,

(A)

(B)
©y
(D)

Thiru. Jawaharlal Nehru
Tmt. Indira Gandhi

Thiru. Morarji Desai -
Thiru. Lal Bahadur Shastri

L IV, II, I1I
LII I, IV
IV, I, II1, 11
IL IIT, IV, I

Gndwreiten Ars0 siaossisafs ug,aﬂa;a;rrsum <Sg g ubled mrﬂm&uu@g@m

8. gesapiana G,
Aewd. @y srpd)

8. Qumrrsed Gaemis
Sl QTRUSSTT FmevdIf

LIV, IL I

LILULIV

IV, I, 101, II
I, 101, IV, I | .

57 : JSTT3
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'162. The wér_d citizen is derived from
- (A)._ Greek
| (Bﬂ Latin
©) Spanish

©)  Urdu

A g g6 Q@HQ Qe erb@umAuded mbs GupOLL LS.
(A) ACrssn |

® Qo

(€  dourafiub

D)  o@ma

’

163. The MultiTFunctionary- at the district levei is
| {A) bistrict Health Officer
(E) District Labour Officer
| (C) Tahsildar

(.l?{)] District Collector

omaul L sjarefled LSFOLILL Ueflyfluyih uerfluramyms @@Dumi;r wmi?
(A)  wrall sEISTH emgsu;ur’r
‘ (Bj LDFI'ELI;;L Qg mfleomerir %stueor'r
. (C) grflagmr |

D) wreulL %l'_aﬂu_;rrmr'r '

-~ JSTT3 R 58
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®

164.

165.

1L}

Consider the following statements :

Assertion (A) : Governor can promulgate ordinance when the state leglslatwe 18 not

in session under Article 213.

Reason (R) These ordinance must be approved by the leglslatlve w1th1n

six months,

Select your.answer according to the coding scheme given below :

(A)
B)
©)

‘Both. (A) and (R) are false

(A) is false and (R) is true
(A) is true and (R) is false

@f] Both (4) and (R) are true .

(A)
(B)
©

(D)

Usually the population of a Corporation is

(A)

- (C)

- SpSeaL eunsSwukisaner a;amsﬂ. :

sapm (A) E g 2136 Lty omhlen acl_l_g,g,jmm sl LG @grrl_rﬂsu r@smaorrg(.'gl_lrréfu SL@HET
' Q@ ssre s Lkismer @udHnetb.
srrend (R) : <24m wng,m&@&@m é{maﬁlg QleoLssres L ks &l_i_mm,q)gglsm '
h ' guygmeal Gum GeuamBib. -

- Qeupmier a1y #fl erem SironeflEsab -

(A) wimon (R) g,a;n,r_r)rrmmeu

(&) poup wpgyd (R) af

(A) &M wpmbd (R) seum
(A) wpmw (R) sflwreaneney

5 lakhs . _ _ - (B) 7lakhs
8 lakhs S - (@Y 10lakhs

ENGTTEILDIE (1 IBETT.Aullen wssar Qprans

A

(©)

5 oL &b (B Tarsb

8 @i st - D) 10alsbd
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© 166. Find the missing number in the place ‘7

1 5 11 !
1 2 s | 5 3 4 4 >
@, 18 R (T
€ 20 : . D) 21
T @GOG @ gdld aumb B
1 5 ‘: ) 11 7
o |
1 2 2 3 3 4 4 5
A 18 - ® 19
© 20 | D) 21

167. Number of prime numbers between 20 and 30

@& 1 T @ 2

© 3 ' | - D) 4

20-&@L0 30— &G Glenl 19 2 GTeT UST GTERTHET THSENE?
A4 1 . . B 2
© 3 o D 4

1
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168.

169.

170.

m

If the area of the AABC is 68 $q. units and the vertices are A (6 7); B (-4, 1) and C (a,- 9)

’ rtaken in order. Find the value of a.

@) -2 | | ® 3

© 5 o2

AABC -érupiiLy 68 &. wyag A (6,7), B(-4,1) Lo,@gm C (a,- 9) aflanstiiig, QarRssL Garang

- erafled a-ar odly aromann?

»

w -2 - ® 3
© 5 - Dz

If the mean of X, x+2 x+ 4,x+6,x+8 is 20 then find the value of x
(4 32 | | - &7 16
© 8 | D) 4

X, x+2, X+ 4,x+6,x+8 aanp srécﬁna;erﬂah Fyasd 20 erafled x @ iy srers

@& 32 | B 16
© 8 o D) 4

By selling a car for Rs. 1,40,000 a man suffered a loss of 20%..What was the cost price of the

car? :
@ Re.150000  © (B) Rs 1,25000
(C)  Rs. 2,00,000 _ @5 Rs. 1,75,000

"

@@ BUT (N Emaniy @ 1,40,000 aa@ aﬁlg)uemsm G]ELuan,suT peLD 20% BLLLD e Hpmr ersuﬂm NGt

SILESHellane _ |
@) @ 150,000 ' (B) .1,25,000
© @ 200,000 - D) . 1,75,000

61 R JSTT3
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171 \Iﬂ the-given -fi_gure, |_B : I_E =-2:3. Find |_B -

Al 130°
B C
@ 1200 ' @ sz

©) 78° : : (D) 130°

ul_g,,@& | B l_C :.2 : 3 crafiés | B snains. '

Al 1300 -

@) 120° | ®) 52°
© 78 | | D) 130°

172. Finﬂ the point of intersection of the straight line 9x -y -2 =0 and 2x +y-9=0.

@ 17 - ® 1
ol an @ LD

9¢x -y —-2=0,2x+y-9=0 srszs@ CriGeT{Haer Qm;@LB Lydem e,
@ L7 - ® @1
© QO R ®) 1,-7)

JSTTS3 - 62
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173.

174,

175.

The cost of a chnmg table is Rs. 8,400, A wants to buy it in 10 1nstalments ‘His EM.I: is’

_ Rs. 875. Find the rate of interest?

@ 3% - o 5%
© 8% S D)  10%

R 2_ewrey G’wemuﬁ]sm e;m_asemﬁ]smv . 8,400. A @iCuwamseaw 10 LOTESEeuenanTsafle Glug)
ﬁmmaé]mrrrr Sleugg DNES g)eu«;watrr 5. 875 ereafléh eul1q. 651D ereimen?

Ay 3% . - (B) 5%
© 8% | D 10%

If(x+m)(x+n)=x%+6x+5 find m? + n

@ 2 | B 8?26

©) 27 D) 28

(x+m)(x+n) =2 +6x+5 aafleo m? + n?-gr wHiLireng

A 25 . . _ N (B) 26

© . 27 | D) 28

Choose the best answer :

Two ﬁ_umbers differ by 5. If their product 1s 336, then the sum of two number is

@) 21 . , - (B 28

@ s S @ 51

érrﬂu_lrrsur eflen_enwy ﬁ@gﬂ& |

@ e (D) Gmwra;raﬂam sﬁlg,é]u_lrr&m 5. Seup et Qu@aaas;pua)eur 336, c@.qg_r,g, Quewr(® Temaeticn aaw.@gm
A 21 ' . (B) 28

< 37 | D) 51

63 _ . | JSTT3
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176. Find the missing number.

3] 3
2 35 | 91 4
2 N 4
1] 5
A) 136 | | B) 156
© 116 @ 189
HULL cTeimeanenTé TGRS
3| 3
2 35 | 91 4
2 9 |7 4
1| 5
(A 136 ‘ - - (B) 156

© 176 - (D) 189

177. Find the simple interest and the é_mount due on Rs. 6,750 for 219 days at 10% per annum.
Ay 205 S - (B) 305 ' '
G 405 o Q) 415
apumls 6,7504@ 219 ltr;nl;a@é;@ 10% QUL'..lq,GSng_gsvﬂGuL_lq_ EITGHTG.

(A) 205 , - B) 305
(C) 405 . M) 415

- ISTT3 | | e
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©

178.

179.

(&) dJute production

(A

@1 2 4 3
®) 2 1 4 3
() 1 3 4 2

3 1 4 9

Three numbers are in the ratio 3:4:5 and their L.C.M is 2400. Their H.C.F is
@f) 40 - ® 80 |
€y 120 ' (D) 200

| eLpEy eTaSea aﬂ@gm 3:4:5 ‘acéuQeuairsaiien 8.4.10. 2400 erafléo a@@@maaﬂ@ LB.G]ufr.v.";u

A) 40 - o o (B) 80

() 120 ' . o (D) 200

Match List I with List 11 correctly and seléct your answers using the codes given below :

- ListI ‘ List II
(a) Rice production Punjab and Haryana
(b) . Wheat production Coorg and Nilgiris
Uttar Pradesh and West Bengal

West Bengal and Assam

T

(d) Coffee plants

(a) (b) (c) (@

1 2 4 3
®) 2 1 4 3
© 1 3 4 2
3 1 4 2

o

- aflens I o e sunﬂsm& II g Qurmsd mrﬂm&s@a@ &p Qsriasiiul Herer ng@uﬂ]aﬂ@m@

sfluinen eflenL_enis Qs flay Qeuis.

Gm’ﬁsmer I B culana 11
(a) Gpe 2 puzd Lienem hpib anflisrenm
b)) @a;fr@mm 2 pugHl &l ppb Fadd

© s aﬁ)uﬁ,ﬁ ' 2 5HrarGseb Lo;bgu;.b G @ sumisTemD

{d) .Eﬂiillg 2 puss

W e

Gup@ eurkiSTeTD LHHIL HFTD

@ h © @

D)

65 ' - JSTT3
' ' [Turn over




181.

- 180. Registration of Partnership is

-V VCompullsdry
@Hﬂ Optional

(C)  Not necessary

(D)  Not compulsory

Sal L TairenLolt Lifley

' (A)  slLmub

(B)  afmriugBen CuRd
(C) eufludBaame

D) slL_mulidene

The Hindué.tan Shipyard is located at |
(&)  Kochi - | |
(B) Kolkatta

(©  Mumbai

.@f)\ 'Visaképatnam

@bHISTET HLILIED 5L gemb al.snwj_'r;gjdwr Qi

(A Qsr&d

(B) Qamdasgn

‘(C) -@:L’omu

(D) eflemaliucgend

JSTT3 | - o 66



182.

Match :

D)

@

@

(a) Primary activities
(b) Sec‘ondafy activities
{¢) Tertiary activities
(d) | Quarternary
@ ® ©
A 2 -3 4
® 1 2 3
'z 4 1
o 4 3 2
Gﬁrr@sgja;:
(a) s fleans Asmflée
(b)) Gremmb 'ﬁ]mwg QAgmfler - |
© apapmd Henarg QmmyRen
(@ prersmd fevers Azmfle
(a) (b) (0
‘@ 2 3 4
® 1 2 3
© 2 ) 1
4 -3 2

b

@

. ‘Pink’ collar 'workers
‘Red’ collar workers
White collar workers

Blue collar workers

Qeuafit Hauly supsgueoL Agmfleomani
: ﬁé.n.'_lq &WegIL Ll AgmBeremi
Qoserener s(egILs Ll el Qgmflemart

B spsa0 Ll Qgmflerer

67 _ 7 ' JSTT3
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183. The last king of the Mauryan Dynasty was

(A)
(©)

Queriw aubssdler sam_&l ogat

(&)
©)

184,
@
(b)

(c)

(@

N

&)

©)
D)

ghwumen cilenenw G]ufr@g,g,ja; :

(a)
(b)
(o)
(d)

(A)
(B)
(C)

(D)

JSTT3

Pushyamitra

Ajathasatru

Leisundgi
DIRTHFH(

Match the following :

Mohenjadaro

. Kaljbangan
Lothal - -

Harappa

(a) (b) (c)

3
4
1
2

_'c.o.pr—‘m

1
3
2
4

. @mfra;@;&g;rr_@urr

sl ukigen
('Sa)_rrgir,{ér,éJ

@nruum

@ ®  ©.

N e W
b L e

[V e

@

S - I R

@

B GRS

LT

LA )

(B)? Briha.dratha
D) Bimbisara

®  Spsgrsen
D) GnQsmyr

Gujarat

- Pungab

Rajasthan
Sind

GRS

LIERaTLI

 @mgavgren

&bl

68




185. Which king introduced “Chain of Justice” in the field of justice?
&07 Jahangir | _ ) (B) Akbar
(C) - Asckar (D) Shahjahan

| “Bdl& arindled wewfl” erep LFw ﬁ’s;ﬁ QUPEIGD DUl e eThE HTET ASTERTE Qb ST
B)  gepriidh | O ® esui
()] | 2Cerar : | - (D)  egmmaenmar

186. According to Quran “Mamaluk” .meanrs
I The poorl |
II.  The slave
II.  The rich
~ IV.  The king - .
@ 1.  eln (© m D v

,@urréuﬂeirr‘utq_ “omogs” eremudler éiﬁgﬁilb
L genp |

I eigmio

1L * Qeeupsen

IV.  wénemen

@A I ® 1 - © m @) IV

187. The Vijayanagar Empire founﬂed in the year _
(A) 1337AD. &) 1336 AD.
(C) 1338 AD. . D 1335AD.

aflgw pagd Gurgs Cemppeflsaiiul L DY, &)
JA)  £.9.1337 . ® 891336
© £ 1338 (D) £.9.1335

s o 69 | JSTT3
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188. Match the following List 1 with List II and choose the correct answer from the codes

give'n below :

List I . List 11
(a)  Magna Carfa of India 1. = 1883
(b) Vernacular Press Act 2. 1885
(c) Ilbert Bill 3. 1878
(d) Indian National Congres.s | 4.

1858
@ ® © @

(A) 3

ol 4

C) 2
1

2
.
4

- (D) 2

4
3
4

[ T S

Llgwd I-eidar uigued H-g Quissss. & ROV G GHulGsaiso Bops shure

sllen_snw Carpls® :
uL@u.ndJ 1 . uigined IT
(@) @bHurclien wansrsambd 1. 1883

M) priEQumA Qeidsgrarsl b 2. 1885
-(c.'.) Geoui’. 1nGengm . 3. 1878 -7
4

(d) @idu Caflw srirdlyen 1858

@ ® © @

@ 3
®B) 14
© 2
| 1

1 2
3 2
3 4
D) - 4 2

CO b e e

. JSTT3 - w0 £




189,

Select False statement :

I.

IL

L.

Iv.

@A) |

(B)

(D)

English language played an important role in Indian National Movement

' The Social Reformers had played no part in arising the National Movement

The Pplic_yipf ‘Drain of Wealth’ by British leads to National Movement

Lyton’s Delhi Darbar and Vernacular Press Act leads to national movement

I and II False

HI and‘IV False

- II alone False

I and ITI False

E\psam_ay gbgush- BEUDTETENEU GTane?

II.

IIL

@)

®

©

D)

@rdu Csdu GuéssSio aprde Qomng Aumpb LismHug

B5u CsAD auay s0ps S Gs Guisstisd aps Lksaliub Asiiuddame

QAL g agmflen Gﬁn@mng,rru Fiyevr_cd @bl Ggsﬁtunb Qe (&S STyerd

S L_afleh Qe STLTGLD, BB Qwr@l Qsfsgmar sl apd CaAwid uary e ACaTeLg
1wppi 1T gauy
I wpgib IV seugy

H mﬁ@fﬂ gaupy

I opgb 1T e

71 | JSTTS
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190. On which date India celebrates Naf_:ionél Technology Dﬁy?
A 11mApril -
®)  12%May
N 11" May
(D) 12th April

Caedlw Agmflaom s mrenma @mbEw Qasrrrs&_trn_lrr@Lb B TeT

A eire, 11
B) G, 12
) Cuw 11

D) guge, 12

191. Which RIA centers of BRIT conduct around 6000 radioimmunoassays annually?

1 — * Bengaluru .
1I - Calcutta

"HI' — Mumbai _
IV. —. Dibrugarh - ' oo

(A) IandIII
(B) Il andIII

©N Ionly
(D) Tand v only

BRITuSerr IGI"IB'Q'; RIA epwwikiser, eu@mLabsiw, 6000 (3|;rtq_‘(3u_|rr g Garm Cs G{r'rrg,meﬁr&dr.

Gallenmen. :
1 - GlLIrsE e T
n - G]a;rrsbaggrr
m - apLbanL |
IV - gumset

@) T opgo I

®  IwpysIII

© . Tw b

D) Tuwpmo IV ol @b

JSTT3 | | - 72 . '_ L | =



192.

193.

"

Indira Gandhi prize for 2013 was aw.arded to
(A)  Alice Ml{nro

(B) C.N.R. Raq

(C) Sachin Tenduli(ar

(JZS)‘ Angela Merkel -

@b srhd eftmg 2013-6 u.]rr@é;@ QUPRISLILILL ) :

(A pelleiv wenGym

(B) C.N.R. Rao

(C)  ssflar QLam(hava

(D) ey erser Qs

Which is the first state introduced E-GPF facility?
(A)  Asom
GB'ﬂ Arunachal Pradesh .

(C) . Karnataka

(D)  West Bengal

(pSei ng;aﬁeh Gr'[gg, wrhloghs E-GPF Qaran® euriiud L g?
(4) éi@;strrLb |

B  op@miseo GyCsso

(C}  sipriswb

(D)  Guobhe eukssrend

73
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194,

195.

“Unbreakable” —is an autobiography by whom?
(A) M.C. Cherrian

(B L.C. Kurrian

: @ﬂ - M.C. Mary Koﬁl |

(D) D.C. Shervani

“Unbreakable” erengid swigfleng wrmenwg?

(A) e, A Geflwen

B . A ghluen

(C)  erb. 8. Gl Gamo

(D) g & Qegreurefl

‘Which country. unveiled the World Longest Aircraft Airlander (HAV 302)?7

/

(A) Russia
(B) Israel

‘Q)/] Britain

(D)  United States of America

2 aflen Bemoran gamu eflorend et Gavawr i (HAV 302} arhs .[r)rn'_Lq_;;&@‘rf@j Gauaflursasiing Lg?

(A)  meigwum
(®) - @eGré
(©)  Aflan

D)  Cuf&s pédw priiser

JSTT3 _ : . T4
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196.

197.

1

Who is chosen for Avvaiyar award of Tamil Nadu Government for the year 2014?

i)
(B)
©
(D)

(A)
(B)
(©

(D)

Dr. K. Mathangi Rama Krishnan:
Kiran Bedi |

Arupthathi Roy

Dr. Daisy Christina

201 4- oD BET(NESENTET HLOILDS D78 UM WITT 6il(FEI&HE Gg,fr,rjr;@g;@ésaauul'_@ehmeur'r (@I ?
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Match List I with List IT and select the correct answer using the codes given below

(a)
(b)
{c)
(d)

- (A)

o

(©
(D)

List 1 _ ’ List IT
World AIDS Day ' 1. Dec, 14
‘World Day of Handicapped 2.  Dec, 10
Armed Forces Flag-Day 3. Déc, 1 |
National Energy ConServation Day 4. Dec, 03 -
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®
198. Match the international organisation and year of foundation and choose the correct answer
from the codes given helow : : '

() UNO 1. 1948
() UNESCO 2. 1995
© WHO 3. 1945

(d) WTO ' 4. 1946

(a) (b (c) (d)

@a 4 1 3 2
G 3 4 1 2
© 2 1 3 4
® 4+ 1 2 3

ECp Qan(ssliud Hater enplilyGemeT b, @@1 Gampmpefasir L 26T (HEenaTILLD QuHES,
Fflwurer eflenLenw @@uﬁ@&;mﬂs&@‘rj}@ Gairey Gau.

(a) & By 1. 1948
(b)  w@aravGan 2. 1995
{c) o osssrgTyoeniy 3. 1845

(d) | 2 08 UTGHE el 4, 1946

@ b © @

(A) 4 1 3 2
®B 3 4 1 2
© 2 1 3 4
(D). 4 1 2 | 3
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199.

200.
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What is Methylation?

I ' Anatural process that chemically modifies DNA
II. A physicalljr modified process that converts higher energy to.lower energy
III.  Used as a biological clock |

IV.  Used in anaesthesia

A4 Tonly - (JB)/) I and TII only
(C) IIonmly ' - (D) IIand IV only
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(C) I v @n : ‘ (D) II wpgs TV ol Gib

New Pope Jorge Mario Bergoglio belongs to which country?
ol Argentina (B) Germany
(C) Holland o , (D) Australia

yFw Gumiiumein_eur G wilGur QuitsréaGur TS B el & Goibseur?

{A) DT gpertiq.qm ' (B) Qgiwed _

(C)  anraps | _ D) eevdCraihum
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